5-for-5 Reading

Test Two

Which part of Creakington Castle is almost completely
covered by clouds?

Accept any answer which references the topmost tier.

Find and copy one word which shows that the travellers
who are attracted to the castle are tired.

weary

Draw lines to match each feature of the advert with the
correct quotation from the text.

. ...have your assistant contact us
ersuasion .
P using your preferred method.

Do you want that WOW factor
when unsuspecting visitors show
up unannounced?

information

...Creakington Castle can only

instruction be accessed via a dark and

foreboding forest.

Which statement is the best summary for the whole of the
second paragraph? Tick one.

[]

How to find out more about Creakington Castle. I:I

Why Creakington Castle is perfect for you.
How to get to Creakington Castle.

Information about Creakington Castle.

What impression do you get of Creakington Castle?

Give one impression, using evidence from the text to support
your answer.

Accept reference to one of the following provided that it

is supported with at least one piece of evidence from the
text, such as:

- It is scary because it says that it says that it has
dungeons and skeletons;

- It is always busy because it attracts a steady rate of
weary travellers throughout the year;

- Itis tall because the top of it is covered by clouds.
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